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JLEHET122%3 155,000 153 1:1.2 i HR 1EH
Tk ( 40, 80)
(&P - 9 (154,000) LS2 1.1km =E
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INEF INEFH [EE3] PREEENEL I SKERARLLIEE 3 5m K& NEF
hE ERTA T B2896%22 97,000 217 1:1.2 i HR 1EE
Tk ( 40, 80)
(#) - 17|T b8 EAT5S—20—8] (96,000) w2 4km aE
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(#R) - 40 (129,000) W2 800m =E
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Tk (40, 80)
(#R) - 58 (119,000) LS2 1.8km =E
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HIRET=TH1291%2 284,000 206 1:1.2 T HR 1EH
TK ( 50, 100)
(#F) - 5|(HiIRET2—21—13] (281,000) W2 1.3km £ EE
NeFH INEFHTH [EE3] PRE—REELRONSBEROEEH I 3 4m K& RINEH
EHFA_-TH219%129 307,000 150 1:1.2 i HR 1EE
Tk ( 40, 80)
(&) - 6|MEEFHT2—4—17] (302,000) W2 1km =E
INEFH INEFHT [EE3] —BEEDQEFENNTA—FARONBEEHE Mm@ 42m K& HRE/NEH
AIRET T H685%35 254,000 145 1:1.5 i HA 1EE
Tk ( 40, 80)
#) - 7|l HRET4—15—10) (252,000) w2 1.4km B

— 131 —




— 132 —

1 (2) (3) (4) (5) (6) (7 (8) (9) (10 a1
HEMBE (BREMOMERVHE HEMDIFES |HEMOMTE |EEMORIRK|EEMD H&EMOREDO DR EADIER HEMOFIEE |EEMICONTOK (EEMOIKEZ D | EEM IR DERTET
B _ A—bL =YD FMADGRR BORKR B, HREEER RS |OFERRBMERE |EEZDOMESOH
B EERR % () () TREDERDRR |DEEDKR FREE-TE)
INEFH INEFT [EE3] FIRED — A E EAES I SBFHE Bithis 5 5.5m 7K RE/NEH
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INE INET *=E hIREEENSVEBRFEOETHE S 5.4m K& INE
XEB=THE339%2 242,000 178 1:1.5 iE HR 1E=E
Tk ( 40, 80)
(#F) - 8| EERT3—9—17] (241,000) W2 200m aE




1 (2) (3) (4) (5) (6) (7) (8) (9) (10 a1
HEMBE (BREMOMERVHE HEMDIFES |HEMOMTE |EEMORIRK|EEMD H&EMOREDO DR EADIER HEMOFIEE |EEMICONTOK (EEMOIKEZ D | EEM IR DERTET
B _ A—bL =YD FMADGRR BORKR B, HREEER RS |OFERRBMERE |EEZDOMESOH
BRI=EERR % () () TREDERDRR |DEEDKR FREE-TE)
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INIBT—T B555%234+ 175,000 120 1:1.2 FLE S 1E=E
Tk ( 40, 80)
(#) - 16 (172,000) W2 1.2km =E
INE INETH EHEEE  |EHEREEOZVEREA OB 3 9m 7K EihEH
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Tk (80, 400)
(#B) 5- 3| FETERT1—21—17] (308,000) RC5 180m Pk BE
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2E ZEh [EE2 INEEO—REEQENIEHMERONLEEHE [t 4m  |KE o g
RFEHNAF-+51790%F25 141,000 101 1:1 FhoE HR 11EE
Tk ( 40, 80)
(#) - 11 (141,000) W2 1.3km aE
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kIL=TH26%14 172,000 381 1:1 #hiE EEE
Tk ( 60, 200)
(&) 5- 6 (172,000) W2 Tkm £ B E
T Fam™ [EE3] —REENEL I SREBEREL-EE EET 6m  [KE (253
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#B&—TH15%5% 178,000 163[ 121 il 1hE
Tk (60, 200)
(&) - 2 (175,000) W2 500m £ =E
PRES PR [EE3] &, EEHMNRET HRRER AL D hiE GES 18m  |KE ERES
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FHRE—-1 | FRE-3 [TRERASET6E 14 2, 880, 000 2, 960, 000 3,070, 000 2. 3. 6.
h—2 i —4 FRXAB=THZ2503% 885, 000 952, 000 981, 000 7. 3. 10.
#—6 W—2 PEXASAAKRELTH36 7% 1 1, 640, 000 1, 680, 000 1, 760, 000 2. 4. 7.
#—8 #—9 HBXER—-TH701%6 1 1,110, 000 1, 130, 000 1, 160, 000 L. 2. 4.
e — 9 Frig—17 [FEXemES—TH1 82%3 24+ 570, 000 578, 000 588, 000 L. L. 3.
FiE—12 |[HiE—4 BriE XK HT 6 % 8 690, 000 705, 000 710, 000 2. 0. 2.
R — 2 LR — 2 CHEEF—TH10%272 882, 000 892, 000 901, 000 L. L. 2.
LR —5 7 CHREALMTHS310%3 2 678, 000 685, 000 695, 000 L. L. 2.
R — 7 TR —14 [SCXK/AJIIZTH19%L 9 769, 000 780, 000 788, 000 L. L. 2.
BHR—1 BEHR—4 BHRX EEEA—THL1 676 658, 000 663, 000 671, 000 0. L. 2.
HEH—-1 HEH—-1 BHXNAE—TH15%4 282, 000 285, 000 288, 000 L. L. 2.
LH— 4 L — 7 THRXm ~TH43%28 329, 000 334, 000 338, 000 L. L. 2.
)il —2 fll—7 f)IIX EREBEZTH270%&70 960, 000 969, 000 985, 000 0. L. 2.
=5 f)i— 8 X PEEE T H255%5 490, 000 495, 000 510, 000 1. 3. 4,
HE—1 HHE—6 HEXHABMAE -TH123%S8 875, 000 890, 000 903, 000 L. L. 3.
HE-5 HE—-12 |HEX#RF-TH2153%22 620, 000 627, 000 636, 000 1. 1. 2.
KH—5 RKHE—30 [KEXHEHMMLUTH2 8%5 607, 000 613, 000 615, 000 1. 0. 1.
KH—8 KHE—18 [KEXMEHKAZTHS3 4% 75 399, 000 404, 000 408, 000 1. 1. 2.
KE—11 [KH—-2 RKHEKANREMTHG6 8 9% 10 465, 000 467, 000 474, 000 0. 1. 1.
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Rk smewEs g € - M F S () | i () | s () ﬁu%ﬁ;ﬁ% %ﬁfﬁﬁ;ﬁj %f%;};
KH—16 [KH—22 |KHEXHWH_TH120%3 370, 000 373, 000 375, 000 0. 0. L.
KH—17 [KH—26 |KHEXKHEH=TH484%?2 347, 000 352, 000 353, 000 L. 0. L.
HHEA—1 [HEA-50 |[HHAKFE=TH271%14 572, 000 576, 000 580, 000 0. 0. 1.
HHA—11 [HHHE—2 3 |HHEAXKMAH _TH668%165 646, 000 651, 000 657, 000 0. 0. L.
HHA—1 7 (HHEA—2 |[HEAAXELHHTH33%ELS5 624, 000 629, 000 637, 000 0. L. 2.
HHA—19 (AR — 25 [HHHAKZELTHG616%1 9 522, 000 527, 000 531, 000 L. 0. L.
HHA—2 2 [HHHAE—2 0 |HHHEAXEHENTH3 34%1 74+ 561, 000 570, 000 574, 000 1. 0. 2.
HHA—36 [HHHAE—2 2 |HHHAXHEMAE—TH138% 13 468, 000 471, 000 475, 000 0. 0. 1.
HHA—4 1 [#HEA—19 [HHAAXELAMNTH4157%6 278, 000 278, 000 280, 000 0. 0. 0.
HHA—45 [HHHEA—1 3 |IHAAXESRT “THS5 2 1% 1 700, 000 702, 000 719, 000 0. 2. 2.
-2 B —2 AR TRy —TH26%6 1, 000, 000 1, 020, 000 1, 030, 000 2. L. 3.
R —5 Br—7 BARXAIT—THO%1 3 575, 000 582, 000 589, 000 1. L. 2.
R —6 R —6 BEARXKIIET1 06 7%F4 14+ 980, 000 1, 000, 000 1, 010, 000 2. L. 3.
i —1 iy — 14 [REFXEE=TH153%4 414, 000 4117, 000 419, 000 0. 0. L.
iy — 7 HhEF— 3 PEFX PR =TH5%5 479, 000 481, 000 485, 000 0. 0. 1.
HEP—1 1 e —1 HEFXE A T TH48%27 — 521, 000 524, 000 — 0. —

#af— 7 BIE—20 [BEXKAFKL—-THI370%4 542, 000 548, 000 553, 000 1. 0. 2.
Eili—12 [BiF—21 [BYXEHERALZTHL 5%&4 425, 000 430, 000 434, 000 1. 0. 2.
Eif—14 |- 8 HAXAEHR—THS6 159 388, 000 393, 000 398, 000 1. 1. 2.
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R (R kRt I S () | i () | s () ﬁu%ﬁ;ﬁ% %ﬁfﬁﬁ;ﬁj %f%;};
Hit—18 [Bii—42 |BUEXEKXKIE-TH23%11 — 500, 000 507, 000 — L. —

Hib—20 |[BiE—33 [BEKKE=TH253%3 548, 000 552, 000 558, 000 0. L. L.
Bit—24 [ElE—25 |RIEREKHEMNTHG6 4%4 477,000 485, 000 489, 000 L. 0. 2.
Bif—25 [HEiE—28 |BIEXKFHE=TH186%18 396, 000 397, 000 399, 000 0. 0. 0.
BE—4 BE—7 BEXFIN—TH15%1 3 469, 000 474, 000 480, 000 1. 1. 2.
BE—8 SE—-11 [BEXIERE-TH26%S3 517, 000 520, 000 528, 000 0. 1. 2.
—2 —12 X EFE—~TH26%1 84 434, 000 438, 000 439, 000 0. 0. 1.
-5 -4 JEXERE—TH124%2 381, 000 381, 000 381, 000 0. 0. 0.
) — 3 ) — 2 FNEFENTH21%3 54+ 370, 000 372, 000 374, 000 0. 0. 1.
WG — 4 HiE—23 [BRERKESEFELTH47ET 303, 000 305, 000 306, 000 0. 0. 1.
WiiE— 8 Pt — 2 WG X ATERT S TH 2 1387 339, 000 341, 000 343, 000 0. 0. 1.
BiE—10 [HBiE—17 BB RILEHET1 0% 4 447, 000 449, 000 452, 000 0. 0. 1.
BiE—11 [(BE—27 |BEXEAL=THI121%9 364, 000 367, 000 370, 000 0. 0. 1.
HE—5 HE—29 [MISEXKEH=THS519%&20 352, 000 357, 000 360, 000 L. 0. 2.
s — 7 S —4 HEXTEME " TH1591%46 362, 000 367, 000 371, 000 1. 1. 2.
ME—17 [WE—-12 [MEXEHAIT—-TH2211%19 358, 000 363, 000 367, 000 1. 1. 2.
HWE—20 |ME—-35 |MEXBEMTIE-THG628%23 — 386, 000 389, 000 — 0. —

HE—30 |[HE—-—60 [MEXEKR=THI15%26 398, 000 405, 000 408, 000 1. 0. 2.
HE—35 [MHE—10 |HEXKRFEITANTHSO8%ES6 239, 000 242, 000 243, 000 1. 0. 1.
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R (R kRt I St () | At () | e g () ﬁu%ﬁ;ﬁ% %ﬁfﬁﬁ;ﬁj %f%;};
BN—12 |[BY—13 [BYKEE=TH22%10 419, 000 425, 000 429, 000 1. 0. 2.
BM—13 [BY—30 |BVXEEATH1I0E?21 203, 000 203, 000 203, 000 0. 0. 0.
BAM—14 [RBY—45 |BYXOH_TH19%?2 337, 000 340, 000 341, 000 0. 0. 1.
BY—16 |[BY—35 |BYEXHEEAM THI19%ES6 232, 000 233, 000 234, 000 0. 0. 0.
BN —25 @Y —34 |BMXEHH—TH32%84 250, 000 252, 000 253, 000 0. 0. 1.
Effi—9 effi—27 |BMKEF-TH61%1 353, 000 357, 000 359, 000 L. 0. L.
Bfi—10 [&Bfi—1 BB =TH104%5 343, 000 344, 000 345, 000 0. 0. 0.
effi—-14 |Bffi—19 |BfiXAKIT=TH10%48 216, 000 216, 000 216, 000 0. 0. 0.
TF)—1 3 [ILFA)I—4 0 [ITA)IKHhERELTH6%2 4 370, 000 377, 000 382, 000 1. 1. 3.
TR —20 [[LA)—3 7 JLEJIKHE/MA)I - TH4 32 7% 4 263, 000 264, 000 264, 000 0. 0. 0.
TTFE—2 1 [[LA)—2 5 [fLAJIIXMEETH 143 7%2 — 311, 000 313, 000 — 0. -

TR)—=22 [[iLAN—5 [LAIKF/INESTE2676%10 336, 000 338, 000 340, 000 0. 0. 1.
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R (R kRt I St () | At () | e g () ﬁu%ﬁ;ﬁ% %ﬁfﬁﬁ;ﬁ: Eifrg'ﬁ;
NEF—2 3 [NEF—89 |\ETFHHAAIT8 6 734+ 130, 000 130, 000 130, 000 0. 0. 0.
NEF—46 [NEF—2 |NEFHTFLIT-THS552%9 260, 000 264, 000 267, 000 L. 1. 2.
NEF—47|\NET—1 |[NEFHHOLAHE_TH45%14 141, 000 141, 000 142, 000 0. 0. 0.
NEF—48|NEF—21 |\NEFHKMEITMNTHL827%5 154, 000 156, 000 157, 000 1. 0. 1.
NEF—49 [NEF—40 P\ETHHREINIT1E4L 0 132, 000 132, 000 132, 000 0. 0. 0.
NEF—50|NETF—68|\ETHiliahf1 2 2%5 74, 000 74, 000 74, 000 0. 0. 0.
NEF—51|\NEF—76 |\EFHiEF26%F1 3 151, 000 151, 000 152, 000 0. 0. 0.
M)l—=14 |NIl—=23 [SUFSITETHE 16 7%2 84 277, 000 282, 000 283, 000 1. 0. 2.
M)I—15 |SE—13 SRR ETHA4 7%5 224, 000 225, 000 227, 000 0. 0. 1.
W — 7 [RURE — 1 |RUREF T EAESEARITIN T H 18 3 9% 2 34 545, 000 558, 000 574, 000 2. 2. 5.
“JE—9 “E—23 |ZHERHOD-TH134%49 295, 000 296, 000 296, 000 0. 0. 0.
“E-12 |ZE-11 |[ZEHARLNTHGE 3 2% 74 358, 000 358, 000 359, 000 0. 0. 0.
HE—12 |HiE—8 HHgETATRAT =T H 4% 1 3 157, 000 158, 000 159, 000 0. 0. 1.
ME—12 |FH—10 |FRmEgIT - TH45%7 280, 000 284, 000 286, 000 1. 0. 2.
=15 |MP—21 |FhmERir=TH25%&17 273, 000 275, 000 277, 000 0. 0. 1.
ME—18 |HHh—25 |MHRHMEIT=TH31%76 262, 000 263, 000 264, 000 0. 0. 0.
ME—9 ME—12 |WEHEMETETHE250%7 4 216, 000 218, 000 220, 000 0. 0. 1.
AT — 1 gfm— 13  [ffmmEEm s —TH16%23 342, 000 347, 000 349, 000 L. 0. 2.
A — 8 AA— 9 P THIRKSF BTN TH2 9% 1 9 240, 000 241, 000 242, 000 0. 0. 0.




Hifi A TOREMER R THIEEREMDME —E (EEM - ZE)

R (R kRt I S () | i () | s () ﬁu%ﬁ;ﬁ% %ﬁfﬁﬁ;ﬁj %f%;};
FMA—13 [Rfi—25 [JFAHHHSOHOLFLE_TH24%5 337, 000 339, 000 341, 000 0. 0. 1.
MH—13 |MTH—44 (MTHGEHBIZTH16%16 155, 000 156, 000 157, 000 0. 0. L.
BfH—21 [HH—20 |HTHHAEE—-TH1880%14 151, 000 152, 000 153, 000 0. 0. 1.
MH—28 |MTH—39 |[MHET><KLH—-TH23%26 197, 000 197, 000 197, 000 0. 0. 0.
MTH—30 |MHA—70 |[MTHTEINFRENUTH3583%96 175, 000 176, 000 176, 000 0. 0. 0.
W —40 |BTH—5 WYl T H 5 4 9% 54+ 271, 000 273, 000 276, 000 0. L. L.
BfH—41 |BTH—13 |ETHTMAERFH o785 85 7%/4 1 111, 000 112, 000 112, 000 0. 0. 0.
WNeEF—9  pPheE—8 BT =TH2129%7 325, 000 328, 000 331, 000 0. 0. L.
JNE— 3 INE—=19  PINVEREBEET—TH1 46 0%8 — 228, 000 229, 000 — 0. -

-5 INE— 4 NETFI B NMEHF—TH8 0 779 289, 000 293, 000 294, 000 L. 0. 1.
A — 3 AEf—29 [ABHHEINLI0EL 2 197, 000 200, 000 203, 000 L. L. 3.
HEf—16 |H¥—25 |HETHMHANTH2 4%4 221, 000 225, 000 2217, 000 1. 0. 2.
WAL —6  [HATL—1  [RANLAERET =T H 4% 1 5 242, 000 245, 000 246, 000 1. 0. 1.
WAL =7 [RAI— 3 | RANLT R T T H 5% 4 160, 000 162, 000 162, 000 L. 0. L.
EosF—7 |EnsF—5 |[EoFhFA_TH7#HELS 254, 000 254, 000 254, 000 0. 0. 0.
[E7— 4 Evz—11 |EzfisR=TH12%29 333, 000 335, 000 337, 000 0. 0. 1.
wmAE—1 fEA— 3 fEAET R TRE)ITI8 5 3% 1 84+ 162, 000 163, 000 165, 000 0. 1. 1.
L —1 JBiL— 6 LhiaFdE—TH11473%41 — 305, 000 307, 000 — 0. —

WRF—9 [HKF—6 |BEKMifimEE—TH37%2 201, 000 202, 000 204, 000 0. 1. 1.
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R (R kRt I S () | i () | s () ﬁu%ﬁ;ﬁ% %ﬁfﬁﬁ;ﬁj %f%%
1HEMW— 3 W — 1 EWHRIL = TH9 7 7% 3 14 265, 000 267, 000 268, 000 0. 0. L.
WA K — 3 [HARK— 1 1 [RARKTAIRLZTH2 9% 2 183, 000 184, 000 185, 000 0. 0. L.
WA K — 9 [HARK— 5 [RAR KT —THI 4% 19 242, 000 245, 000 246, 000 L. 0. 1.
REAS I — 8 [FEAT L — 1 | IRk —TH1 5 8%1 147, 000 148, 000 149, 000 0. 0. 1.
ZEE— 5 ZEE— 8 ZEET— /7 EMUTH13%13 252, 000 254, 000 255, 000 0. 0. 1.
ZE—-13 |ZE—26 |[ZETHEIFLTH25%22 183, 000 184, 000 185, 000 0. 0. L.
SEE—14 |ZE-18 |[ZETZH838%F1 185, 000 185, 000 186, 000 0. 0. 0.
Feg—1 2  [fEdk— 11 | RFREEF 51 2 8 3% 4 222, 000 224, 000 225, 000 0. 0. 1.
bHE 2T —3 |bXHH—4 |bX 2TFHTNMTEH415%15 119, 000 119, 000 120, 000 0. 0. 0.
PR — 2  [VERA— 1 |PERATHERTUTH1 738%1 4 315, 000 318, 000 320, 000 1. 0. 1.
PEH— 4 [FEHE— 2 0 |FAULTRAIIUTH2 23 7% 4 2217, 000 228, 000 229, 000 0. 0. 0.
HifE— 1 HifE — 3 VG 2 EE AR AR K AR 7 I A 3 2 3 6 57 4 104, 000 104, 000 105, 000 0. L. L.
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R (R I S () | riie ) | s () ?Eu%% %ﬁfhﬁ;ﬁ}? %ﬁ?;ﬁﬁ;;@
FHRES -1 | FRE5—19 | TFTAREAXKALON=TH 2%+ 20, 100,000 20, 600, 000 21, 500, 000 2. 4. 7.
FRES5—17 | FRH5—26 [TREXMHEBENE -TH1E47 — 1,510, 000 1, 560, 000 — 3. —
TRIS—18 | TRIIS—29 | TAUH KB T H 4% 2 4, 600, 000 4, 670, 000 4, 830, 000 1. 3. 5.
FRES5—25 |FRES5 — 7 [FAREXRHFHENIT—TH 1% 14+ - 3, 980, 000 4, 120, 000 — 3. —
5 —4 |5 —16 [FRXAARGAINTHLS5%S3 4, 000, 000 4, 080, 000 4, 240, 000 2. 3. 6.
5 —9 |hks5—14([PRXHE TH2%ES 1, 350, 000 1, 370, 000 1,410, 000 1. 2. 4.
5 —1 3 |5 —29 [FRXEETH2%F1 94 20, 400,000 21, 500,000| 22, 600, 000 5. 5. 10.
5 — 14 |5 —2 [PREXEESTHLEFL 34 13,200,000 13,900,000 14,800,000 5. 6. 12.
5 —20 |FR5—20 [PREXHABGAFE _TH21%1 0 1, 090, 000 1, 120, 000 1, 150, 000 2. 2. 5.
PS5 —4 HE5—10 |HKEdm_TH1%9 1, 870, 000 1,910, 000 1, 990, 000 2. 4. 6.
#5—5 #5—1 BXHE—-TH103%4 7, 350, 000 7,570, 000 7, 830, 000 3. 3. 6.
W5—-18 |#k5—7 XA T H1301&5%+ 3, 490, 000 3, 520, 000 3, 550, 000 0. 0. 1.
#5—-23 |#5—-12 [HBXZRM_-TH201%K1%+ 1, 600, 000 1, 640, 000 1, 670, 000 2. 1. 4.
FrfE5— 10 |#E5 — 15 [HifdXHifEs =T H5%& 24 10, 300, 000| 10,700,000 11, 300, 000 3. 5. 9.
FfES5—11|HES — 14 [HiEXKEA AT —THL93%5 1,610, 000 1,610, 000 1,610, 000 0. 0. 0.
FES—13|HEs—9 |FEXKESE_THG6E 7,170, 000 7, 350, 000 7, 500, 000 2. 2. 4.
FES—15FHEd—8 |FEXKNA=TH1ES 2, 950, 000 3, 020, 000 3, 060, 000 2. 1. 3.
FIE5—17 a5 —4 0 [FfEXdbfis —TH353%6 1 803, 000 812, 000 827, 000 1. 1. 3.
BES— 19 [HEd— 13 |FEXERITL10%E3 1, 120, 000 1, 140, 000 1, 160, 000 1. 1. 3.
BIES —26 [HifEb—22 [FEXKHE—TH31%28 1, 200, 000 1, 220, 000 1, 240, 000 1. 1. 3.
X5 —2 |5 —5  [CHRE/NAITH2%545+ 1, 590, 000 1, 620, 000 1,670, 000 1. 3. 5.
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XHS5 =7 [XH5—9 |MHKETEBA=TH42%15 890, 000 905, 000 930, 000 L. 2. 4.
HAHE5—-6 |AES5—16|AHXK =/~ THI0%4 406, 000 410, 000 414, 000 1. 1. 2.
B —8 |BHR56—7 [BFHREKEEHE-TH22%2 1, 780, 000 1, 800, 000 1, 810, 000 1. 0. 1.
B —17|BHR5—5 [BEREXEERETHG6 62 894, 000 902, 000 914, 000 0. 1. 2.
BES5—2 1 |AH5—1 3 |6HEKEM T H8EF44 883, 000 895, 000 903, 000 1. 0. 2.
BHR5—22 AR5 —26 |AHKHEH—-TH15%&1 3 836, 000 850, 000 857, 000 1. 0. 2.
BHS5—13|8EHE5—-3 [BHEHKHE_THI3E44 562, 000 567, 000 572, 000 0. 0. 1.
IS5 —8 |{LH5—10 [[LHXKAF—TH8%E1 44+ 605, 000 608, 000 620, 000 0. 2. 2.
)5 —10 M5 —4 |SIKERKBE_ZTHS56 1%&1 2, 400, 000 2, 440, 000 2, 530, 000 1. 3. 5.
s —12 M5 —2 |SIKKHE=ZTH4149%F645 756, 000 760, 000 770, 000 0. 1. 1.
H#E5—-3 |(EE5—2 |HEXEARER=TH1860%6/% 2, 600, 000 2, 660, 000 2, 700, 000 2. 1. 3.
HES5—-5 |[(HES5—-4 [AERERH#HRF-TH1138%F17 743, 000 753, 000 760, 000 1. 0. 2.
KH5—7 |KH5—-8 |KHXKAMNFE=TH1052%10 571, 000 577, 000 583, 000 1. 1. 2.
RKHE5—8 |KH5—22 | KHXHBEAIN-TH4%&1 3 — 648, 000 655, 000 — 1. —
KHES5—13[KH5—17 | KEHXEHHLETHZ5&K24 720, 000 735, 000 741, 000 2. 0. 2.
KHEHS5—16|KH5—7 |KHEHRKHEELTH4EA4 478, 000 482, 000 486, 000 0. 0. 1.
HHAS — 9 |HHEAE5—16 [HHARXZEHFEF-TH2032%8 688, 000 693, 000 700, 000 0. 1. 1.
HHAES—10 [HEAS — 8 [HHARXELAHTH1 7%6 720, 000 726, 000 735, 000 0. 1. 2.
BR5—2 |A5— 15 |MAKEREFE-TH12%13 2, 410, 000 2, 470, 000 2, 530, 000 2. 2. 5.
W5 —4 [R5 — 12 |BAREXK-THE21 3% 8, 000, 000 8, 220, 000 8, 400, 000 2. 2. 5.
BR5—5 |BA5—3 |BARKEBAE-THIES 3, 560, 000 3, 650, 000 3, 740, 000 2. 2. 5.
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5 —4  |HEF5 —4  [PEXFRNTHEH34%15 735, 000 742, 000 750, 000 1. 1. 2.
hEF5 —9  |PE5 -2 [FEXHEE -TH26 8%&S4H 670, 000 672, 000 673, 000 0. 0. 0.
Birs—2 |Eiis—8 |[EitKMEAmE—TH8 5% 34+ 593, 000 599, 000 605, 000 1. 1. 2.
Bills—10 | I5—6 [HIEKAkE—TH40%F1 14+ 538, 000 542, 000 550, 000 0. 1. 2.
Bilis—11 |5 —4 [KIEXKFHEAE=TH774%3 1, 120, 000 1, 140, 000 1, 160, 000 L. L. 3.
BEH5—-8 |BE55—-18|4EXEEKLTHI3872%44 618, 000 623, 000 625, 000 0. 0. 1.
BE5—12|855—-5 |(BEXEME-THI7E1 3 2, 250, 000 2, 300, 000 2, 360, 000 2. 2. 4.
BE5-13|855-9 |[BEXKIEKE -THI12%S3 896, 000 910, 000 920, 000 1. 1. 2.
s5—2 5—-5 EXEFL=ZTHOIES 4 725, 000 735, 000 735, 000 1. 0. 1.
M5 —1 Pr)lls—4 [RIXKKAFEE=TH1338%1% 575, 000 579, 000 584, 000 0. 0. 1.
N5 —8 PiJls—3 [FIKETE-THS0&F2 94t 446, 000 448, 000 449, 000 0. 0. 0.
WS — 10 [iE5 —4 [(BEXEN_TH4%&29 495, 000 495, 000 497, 000 0. 0. 0.
WiE5—13 [HfEo—9 |HERFEEE - TH6XKT 794, 000 808, 000 816, 000 1. 1. 2.
MHES5—5 |MES—7 [MEXKREE—-TH115%2 500, 000 515, 000 519, 000 3. 0. 3.
HES—6 [#MES—1 [MEXKESEEIASATELIELS 995, 000 1, 020, 000 1, 030, 000 2. 1. 3.
B 5 —3  |BY.5—6 |BINXARILET 9% 3 54+ 243, 000 244, 000 244, 000 0. 0. 0.
B 5—5 B35 —2 |RYX T4 5% 2 812, 000 840, 000 860, 000 3. 2. 5.
JBL5— 15 @5 —16 |RIXKMTOHERLTH1E?2 383, 000 384, 000 385, 000 0. 0. 0.
Bfis—1 |[Bffis—4 |BfiXxyA—TH233%34 497, 000 502, 000 503, 000 1. 0. L.
Bffic—4 |[Bffic—5 |[BMXAF=TH643%2 487, 000 495, 000 503, 000 1. 1. 3.
LFE)IS —3 [FLAIN 5 — 3 [{LA)IIIXEEEANTH 1 5% 2 84+ 1, 150, 000 1, 170, 000 1, 190, 000 1. L. 3.
LRSS =8 [NLA5 —6 [{LA)IIXHR_"THI1 08 5%4 303, 000 305, 000 307, 000 0. 0. 1.
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swmEslmensy  w ow - ow o ® SRR | TR s | G | et |
NEF5—11|NEF5—2 [\EFHiFHlr1 2%5 521, 000 527, 000 529, 000 L. 0. L.
NEFE—12[NEF5—1 4| \EFHisEIIr20 7%1 146, 000 146, 000 146, 000 0. 0. 0.
S5 =2 |[Spls5—6  |SJIHERET - THS8 6% 1 1, 400, 000 1, 430, 000 1, 460, 000 2. 2. 4.
R 5 — 2 (RS 5 — 2 | E i S FAIT—TH207 3%F2W 4, 200, 000 4, 300, 000 4, 400, 000 2. 2. 4.
RS 5 — 3 [ 5 — 4 |BURBF i & fEp AT ZTH1975%14 935, 000 950, 000 975, 000 L. 2. 4.
R 5 — 7 [RURE 5 — 3 |RmEF i E M —TH2728%9N 2, 040, 000 2,100, 000 2, 150, 000 2. 2. 5.
“E5—-3 |“E5—-1 |ZJEHTE£L-TH256%14 — 1, 900, 000 1, 930, 000 — L. —
MH5—7 |fH5—-3 |HHTEIT—-TH23%9 636, 000 650, 000 668, 000 2. 2. 5.
BE5—3 |HEeE5—1 |BEMHHEmIETHE228%S 371, 000 375, 000 377, 000 L. 0. L.
FMm5—3 [M5—3 |SAMmAHEETHLOFL 1 890, 000 906, 000 927, 000 1. 2. 4.
HIHS5—7 |[HTHS5—5 |HTHMAREALE -TH25%&11 2717, 000 277, 000 278, 000 0. 0. 0.
WTHS5—8 |MTHS5—9 [ATHTMFAITHASTH 7 8 2% 54+ 2, 140, 000 2, 200, 000 2, 220, 000 2. 0. 3.
IS5 — 10 [HTHS5 —1 3 |HTH TR EREK2 6 47 1 166, 000 167, 000 167, 000 0. 0. 0.
NS =2 NS — 2 PNEHTTAIT=TH259 1%1 44 430, 000 433, 000 436, 000 0. 0. 1.
ANES =1 IS =2 INERAENEHREIT—TH1 0 6% 9 340, 000 341, 000 342, 000 0. 0. 0.
BRI S — 1 [T 5 — 3 | AL —T H 6 % 8 325, 000 327, 000 329, 000 0. 0. L.
EoF5—1 |EHSF5—1 |[EoFHAN “TH334%1 4 1, 250, 000 1, 260, 000 1, 280, 000 0. 1. 2.
wmAES—1 |fEES—3 [WMAETRKTFREATRET 6 7EFSS 321, 000 321, 000 325, 000 0. L. 1.
EWS5 —2 [IH#S —1 [EEGRL—TH9 9 7%4 405, 000 408, 000 410, 000 0. 0. 1.
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ZIES —2 |ZES -5 [ZEMBEFMTH4%E1O 601, 000 603, 000 603, 000
g5 —2  [FEdRs —2 | RFRALFNE 103 0%F1 228, 000 230, 000 232, 000
PFF5—1 PRIASE—1 |PRdkkr—TE1 434 172, 000 173, 000 174, 000
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